
LIMITED WARRANTY

PLEASE DISPOSE OF PLASTIC BAG (S) AND 
CARTON (S) RESPONSIBLY.

(1) Headboard*

(2) wings* (2) metal legs

(4) 1” x ¼” bolts(8) 2” x 5/16” bolts

(20) 1¼” washers

(4) ⅝” x 5/16” bolts

(4) ¼” nuts

You will need: 
• phillips screwdriver
• flat head screwdriver
• pliers

*Open all hardware packets 
in both packages before 
starting assembly.

 h eadboard
Assembly Instructions 

headboard components

If you have any questions, please call us 

headboard & side rails hardware

*images might vary from actual product

We guarantee our upholstered furniture against defects in construction for a period of one (1) year.  When a structural defect is brought to our 
attention, we will repair or replace it at our option at no charge to the customer (includes parts and labor, not transportation costs).  Fabric 
wearability for upholstered furniture is not covered by the warranty.  Vacuum for regular cleaning.  



Attach each wing to headboard using:
  
1. (1) 2” x 5/16” bolt and (1) 1¼” washer  
 
2. (1) 2” x 5/16” bolts and (1) 1¼” washer 
 
3. (1) 2” x 5/16” bolts and (1) 1¼” washer 
 
4. Repeat process for the other wing.

1

2

3

Step 1

Insert metal legs through the 
holes in the headboard. Make 
sure that you place the correct 
leg facing “Out.”  
 
Attach each metal leg to the 
headboard using (2) ⅝” x 5/16” 
bolts and (2) 1¼” washers for 
each leg. 

Step 2


